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Performance Notes 
 

 

Instrumentation 

Clarinet in Bb, Alto Sax in Eb, Piano 
 

 

Rhythm and Meter 

The sixteenth note remains constant through all meter changes, 

except for in measure 139.  Here, the dotted eighth note beat 

from measure 128 becomes the quarter note beat in measure 139.  

 

 

Trills 

A trill without an accidental ( ) indicates a trill from the 

written note to the natural pitch a diatonic step above. 

(i.e. Bb and Bn would trill to C; G and G# to A) 
 

A trill with an accidental indicates a trill from the written 

note to the flat, sharp, or natural pitch a diatonic step above.  

Trills sometimes include accidentals simply for extra clarity. 

 

 

 

 

 

Program Notes 
 

 

If I asked you to imagine a musical representation of a 

computer crash, I guarantee that you would not imagine 

anything at all resembling this piece – and that is 

precisely the point.  external drive represents instead 

a computer crash from the perspective of the virus 

causing the crash.  Follow its plight through firewalls 

and security checkpoints, knowing that a successful 

mission will also cause the virus to cease existence. 

 

 

Approximate Performance Time 6' 
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12 external drive

»



%

%

%
>

052

052

052

052

056

056

056

056

33

33

33

33

B α Cl.

A. Sx.

Pno.

101 œα œα œµ

œα œµ œ

101 œα œµ œ

∑

œ− œ∀ œ œα − œµ , œ

œ− œ− œ œ

œα − œœœα − œœœµα , œ

‰ ιœα − œα , œ

≈ œµ = œ œ œ œ= œ œ ιœ ‰ ‰ œ œ

‰
œ= œ œ œ= œ œ œ

= œ œ œ= œ œ ‰

‰ Ι
œœœαα
=

≈ Θœ̆ ‰ œ ≈ œ
Œ

ιœα =
‰ Œ Œ ‰ œα œ

103

ƒ

ƒ

ƒ
103

%

%

%
>

0501

0501

0501

0501

058

058

058

058

B α Cl.

A. Sx.

Pno.

104

−˙α œ

Œ
œ= œ œ œα= œ œ œ= œα œ œ= œ œα

104 Œ œœœααα =
≈ œ̆ ‰ ιœ

≈ θœ
‰

−˙α œ

ιœα
≈ ‰− œα= œα œ θœα

≈ ≈

‰− œα= œ œ Θœα˘ ≈ ≈ ‰−

œα = œα œα Θœα˘ ≈ ≈ œα = œα œα ‰ −

ιœα
≈ ‰ − ‰ − œα = œα œα

Ε

Ε

Ε
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%

%

%
>

058

058

058

058

74

74

74

74

33

33

33

33

B α Cl.

A. Sx.

Pno.

106
œ∀ = œ œµ Θœ∀˘ ≈ ≈ ‰−

ιœ∀
≈ ‰− œ∀ = œ∀ œ∀

106

Ι
œœœ∀µ ˘ ≈ œ= œ œ θœ ≈ ≈

ιœ∀
≈ ‰− ‰ −

‰ − Θœ
= −œ œ œ œ

−œ œ= œ œ∀ œ œµ œ œ∀

‰ − Θ
œœα = œœ œœ œ œœ œ

‰ ιœœα
≈ −−œœ∀µ =

œœ
ε

ε

ε
œµ − œµ œ œ œ œ −œ œ= ‰ Ιœα −

œ− œα œ œ œ œ −œ œ= ‰ Ιœ∀ −

œ− œ∀ œ œ œ œ −œ œα = ‰ Ι
œœœ∀ −

Œ ιœœ∀∀ 
‰ ‰ − θœœα


Œ

ο sub.

ο sub.

ο sub.

%

%

%
>

32

32

32

32

33

33

33

33

B α Cl.

A. Sx.

Pno.

}}}}}}}}}}}ΗŸ }}}}}}}}}}}ΗŸ }}}}}}}}}ΗŸ
−œ œ= Œ Ó
−œ œ= Œ ‰œ œ∀ −œ

−−−œœœα œœœα
‰ Ι
œœœ∀ − −−−œœœ œœœ=== ‰ Ι

œœœ̆

‰ ιœœα


Œ ‰ ιœœ
≈ θœœ

‰

109

ε sub.

109

∑

Œ ‰ œ œ∀ Ιœ œ Œ

œœœ∀˘ œœœα = œœœ œœœα
‰ œœœµ − œœœ∀ − −−−œœœα˘ œœœ===

Œ œœα


≈ œœ
Œ ‰ ιœœ

ε

∑

‰œ œ∀ Ιœ œ Œ

‰ Ι
œœœµ˘ œœœα˘ œœœ∀ − −−−œœœα˘ œœœ===

‰ ιœœα


Œ ‰ ιœœ
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%

%

%
>

33

33

33

33

B α Cl.

A. Sx.

Pno.

}}}}}}}}}}}}}}}}}}}ΗŸ }}}}}}}}}}}}ΗŸ

112 Ó Œ œ œ∀ œ œ œ−
5

‰ œ œ∀ −œ Ó

112 ‰ œœœµ= œ œœœ∀ œ= ≈ œœœµ= œ œœœ∀ œ̆ Œ

‰ ιœœα


≈ œœ
≈ œœ

‰ ιœœ
Œ

ε
≈ œ œ∀ œ œ œ œ œ œ œ− Ó

5 5

Ó ‰œ œ∀ −œ

Ó œœœα˘ œœœ∀˘ œœœ̆ œœœα
˘

Ó Œ ‰ ιœœα


ƒ

%

%

%
>

72

72

72

72

32

32

32

B α Cl.

A. Sx.

Pno.

Ÿ}}}}}}}}}

}}}}}}}}}}}}}}ΗŸ
}}}}}}}}}}}ΗŸ

114 ∑

‰ œ œ∀ −œ Ó

114 œœœα˘ ≈ œœœ∀= œœœ œœœ̆ œœœ− œœœ̆ œœœ− œœœα˘

‰ ιœœα


≈ θœœ
‰ Œ ‰ ιœœ

Ó ‰œ œ∀ −œ

œ œ∀ œ œ œ œ œ œ œ∀ Ó
5 5

Ó −−−œœœα = œœœ∀˘ −−−œœœ= œœœα −
Ó Œ ‰ ιœœα



ε

ε

Ο

∑

≈
œ œ∀ Θœ œ

≈ œœœα =
œœœ œœœα −

‰ ‰ ιœœα


ε
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%

%
>

32

32

32

74

74

74

B α Cl.

Pno.

‰ ιœ
‰ ιœ=

θœ−
≈ ‰

−−−œœœ œœœ ‰ ιœœœ=
œœœ− œ œ œ∀

‰ ιœα œ− œ= œ− ≈ œα −
ο

ο

117

117

‰ ιœ
‰

−ιœ=
≈

−−−œœœ œœœ ‰ œœœ= œ œ œ∀

‰ œα − œ− −ιœ=
≈

œ= ≈ −œ∀ œ∀ œ

œœœ=
œ∀ −−−œœœ=

œœœµ˘ œ œœœ
˘

œα = ≈ −œ∀= œ∀ œ

%

%

%

>

31

31

31

31

0501

0501

0501

0501

B α Cl.

A. Sx.

Pno.

120 ιœµ =
≈ −ιœα œ œα

∑

120 œœœ∀= œ∀ −−−œœœ=
θœ∀ œœœµ˘ œ œœœ

˘

ιœ= ≈ −ιœ∀= œ∀ œ

ε

ε

∑

œ œ∀ œ œ œ œ œ œ œ∀
5 5

∑

∑

ƒε

∑

Ι
œµ =

≈ ‰− ‰ − œα= œ œα

œœœ∀∀∀ = œ∀ œ∀ œ∀= œ œ œ∀= œ∀ œ∀ θœ=
≈ ≈

œœµ=
œœ ‰ − ‰ − ‰ −

ε

ε

122

122
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%

%

%

>

058

058

058

058

055

055

055

055

B α Cl.

A. Sx.

Pno.

123 ∑

‰ − ‰ − œµ = œµ œ∀ −ιœµ

123 œµ= œ œ œα = œ œ œ= œα œ −ιœα
œœ=

œœ ‰ − ‰ − −−
ιœœ

Ε

Ε

œ= œα œ Θœ ≈ ≈ œα œ œµ œ∀
4

‰ − œ= œα œ œ= œ œ

œ∀= œ∀ œ∀ Θœ∀ ≈ ≈ œ∀= œ∀ œ∀
œœ∀=

œœ ‰ − ‰ −

Ε
−œæ

œ œµ œµ œ
4

œµ = œ∀ œ∀ œ∀ = œ œ∀ −ιœµ

Θœ
= ≈ ≈ œ= œ œ −ιœα
œœ∀=

œœ ‰ − −−
ιœœα

growl

ε

ε

%

%

%
>

055

055

055

055

058

058

058

058

B α Cl.

A. Sx.

Pno.

126 −œ∀
æ

œµ = œα œµ œα= œ œ

126 œ= œ œ∀ θœ∀= ≈ ≈

œœ∀=
œœ ‰ −

growl

ε

−
Ιœµ œ∀˘ ≈ œ∀ œ∀ œ

≈ œ∀ œ œ∀ œ∀ œ œ∀ œ œα œµ œ œ∀
4 4 4

œœœ∀ ≈ œœœ∀ ≈ Θœœœ ≈ −−−Ιœœœ∀

‰ θœœ∀
≈ ≈ θœœ= −−

ιœœ

4 4 4
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%

%

%

>

32

32

32

32

B α Cl.

A. Sx.

Pno.

↓

}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}ÈŸ

molto cresc.

molto cresc.

molto cresc.

128
œµ œ ‰ Θ

œ œα œα œα

œ œα œµ œ œ∀ œ œ∀ œ œ œ∀ œ œ
4 4 4

128 −−−Ιœœœµµ Θœœœ
˘ ≈ ≈ −−−Ιœœœ∀∀∀

‰ θœœ
‰ Θ

œœ∀∀= −−Ι
œœ

−˙α

œα œ œµ œα œ œ œ œα œ œ œ œα

Œ ≈ œ∀ œ œ∀ œ∀ ≈ œ œ œ∀ œ∀5
5

Œ œ∀ œ∀

(δ.=π )129

Ε

Ε

Ε

(δ.=π )129

4

4 4

%

%

%

>

33

33

33

33

B α Cl.

A. Sx.

Pno.

◊↓(↓)

}}}}}}}}}}}}}}}}}}}}}}}}}}}ÈŸ

}}}}}}}}}}}}}}}}}}ΗŸ

}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}ÈŸ

rit.

rit.

(molto cresc.)

(molto cresc.)

(molto cresc.)

130
œα œ œα œα œ œ œ œα œ œ œ œα

−˙

130 ≈ œ œ∀ œ∀ œ∀ ≈ œ œ œ œ∀ ≈ œ œ œ œ
5

5 5

œ œ∀ œ∀

Ιœ ‰ ‰ œ œµ œα œ œ∀
3 3

œµ œ œ œα œα œ œ œα œα œ œ œα

−˙∀

Œ −œ∀ œ∀ œ œ∀
−−˙̇∀∀

−˙∀

ιœα −
‰ œµ , œ, œµ , œ∀ ,

œ∀ œ œ∀ œ∀ œµ œ œ œ œα −œµ

œœ∀∀ œœ∀∀ œœ œœœµµα
œœ

œœ −−œœ œœ
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%

%

%
>

33

33

33

33

B α Cl.

A. Sx.

Pno. ◊

∋◊(
(↓)

Ÿ}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}

accel.

accel.

Ιœ∀ ‰ ˙∀ = œµ , œ, œ,
3

Ιœµ , ‰œ œα œµ −˙α

œœœ∀∀
˙̇̇∀
=

œœœµµ∀
= œœœ

=
œœœ
=3

˙̇
=

œœ œœ œœ
3ϖϖ=

Maestoso q = 80

Ï

133

Ï

Ï

Maestoso q = 80133

œ∀ , œ∀ , −˙

−˙ Œ

œœœ∀∀∀
=

œœœ∀∀
=

˙̇̇ œ œ œ œœœ∀∀ œœ∀ ˙̇
−−˙̇

Œ %

ο

ο

−˙ Œ

∑

œ œ œ∀ œ∀ œ œ œ∀ œ∀
> %

œ œ œ∀ œ∀ œ œ œ∀ œ∀
>

n

%

%

%

>

B α Cl.

A. Sx.

Pno.
◊

↓◊

}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}}ÈŸ

accel.

accel.

136 Œ ˙µ = œα , œ, œ,
3

Œ œ œ∀ −˙

136 Œ
ιœœœα

α ˙̇̇= œœœαα
= œœœ

=
œœœ
=3

Ι
œœα ˙̇ œœα œœ œœ

3

ϖϖαα =

ƒ

ƒ

a tempo

a tempo

œµ , œµ , −˙

−˙ Œ

œœœ
=

œœœµµα
=

˙̇̇ œα œα œ œœœ œœµα ˙̇
−−˙̇

Œ %

ο

ο

−˙ Œ

∑

œα œα œ œ œα œα œ œ
>

œα œα œ œ œα œα œ œ
>

n
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%

%

>
>

34

34

34

34

B α Cl.

A. Sx.

Pno.

◊↓ ↓ ↓

139 Ó
œ œ œ −œα Ιœ=

∑

139 ∑
ϖϖαα

a tempo

ε

a tempo

œ œ œ œ− œα= œ
Τ Œ

3

Ó ŒΤ Œ

Ó ŒΤ Œ %

˙̇ œœ
Τ Œ

Œ
−˙

‰ Ιœ −˙

Œ
−−−˙̇˙αφφφφφφ

‰ ιœœ −−˙̇

π

π

π

Hollow q = 72141

Hollow q = 72141

Œ
−˙

‰ Ιœ −˙

Œ
−−−˙̇˙αφφφφφφ

œα , œœ −−˙̇

π

%

%

%
>

34

34

34

34

33

33

33

33

B α Cl.

A. Sx.

Pno.

◊↓

143 Œ ‰ Ιœ œ œ œ œ œ œ œ œ œ œ œ œ
3 5

Œ œ −˙

143 Œ ‰ Ι
œœœαφφφφφφ

−−−˙̇˙

œα , œα œœα −−˙̇

π

θœα ϖ
θœ ϖ

∑

Ó œœ−
œœ− ‰

œœ− œœ
− ‰

ε

ε

ε

−œ ‰ Ó

−œ ‰ Ó

∑

Œ ‰
œœ− œœ

− Ó

π

π

ο

%
>Pno.

◊

146 ≈ œ œ œ œ œœœαφφφφφφ
−−−œœœαµαφφφφφ Ι

œœœαφφφφφφ
5

∑ο

œœœ
−−−˙̇̇φφφφ

œœ−
œœ− ‰ Œ œœ= œœ œœ∀∀ 

ε ο

ϖϖϖ

∑
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%

%

%
>

B α Cl.

A. Sx.

Pno.

Œ œ∀ , ˙∀ ,

Œ
œ∀ , ˙∀ ,

Œ œ∀ œ œ œ œ∀ ˙
5

∑

Faster q = 100 

ε

ε

ε

149

Faster q = 100 149

˙ œ∀ = œ∀ œ œ
3

˙ œ∀ = œ∀ œ œ
3

œ œ œ œ œ œ œ Ιœ∀˘ ‰ Œ
3

∑
ο

ο

ο

ε

ε

ε

œ œ∀ œ∀ œ œ œ œ œ œ œ œ œ œ œ œ
3 5

œ œ∀ œ∀ œ œ œ œ œ œ œ œ œ œ œ œ
3 5

∑

∑

ο

ο

%

%

%

>

B α Cl.

A. Sx.

Pno.

↓ ↓ ↓ ↓

152 œ∀ œ∀ œ− œ œ œ œ œ œ
3

œ∀ œ∀ œ− œ œ œ œ œ œ
3

152 ≈ œ œ œ œ∀ ≈ œα œα œ œ∀ ≈ œα œα œ œµ ≈
œ œα œ œα

5 5 5 5

œ œ œ œœ

ε

ε

ε

Ι
œ∀˘

‰
œ∀ , ˙∀ ,

Ιœ∀˘ ‰
œ∀ , ˙∀ ,

ιœœœµ

‰ Œ Ó

ιœœ∀∀
‰ Œ Ó

ƒ

ƒ

ƒ Ï

Ï

5 55 5 5
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%

%

%
>

B α Cl.

A. Sx.

Pno.

154 ˙ œ ≈ œ œ∀ œ œ œ œ œ−
5 5

œ œ− œ= œ∀ œ œ œ∀
≈ œ œ∀ œ œ œ œ œ∀ −

5 5 5

154 Œ œ œ œ œ∀
Ι
œœœ
˘

‰ ‰ ιœœœ
Œ

Œ ιœœ
‰ ‰ ιœœ∀∀

Œ

ε

ε

with determination

Ιœ∀˘ ‰ ≈ œ œ œ œ− ‰ ιœ ≈ œ œ œ œ
5 5

≈ œ∀ œ œ œ∀ − Ιœ∀˘ ‰ œ œ œ œ œ œ∀ =

5
5

ιœœœ
‰ ιœœœ∀


‰ ‰ ιœœœ

œ∀ œ œ œ

ιœœ
‰ ιœœ

‰ ‰ ιœœ
Œ

%

%

%
>

31

31

31

31

B α Cl.

A. Sx.

Pno.

↓

rit.

rit.

◊

ϖ

ϖ∀

−−−
˙̇
˙∀φφφφφφ

œ œ œ
3

Ó ‰ ιœœφφφ œœ

Slower q = 80

Í

156

ο sub. π

Slower q = 80156

Í
˙ Ó

˙ Ó

œ œ œ œ œ œ∀ œ œ∀ œ
Œ
œ

5

˙̇ =̇
%

n

n

ο

Ó
˙∀

∑

œ œ∀ œ œ œ œ∀ œ œ œ= œ œ∀ œ œ>

=̇ œ œ∀ œ œ >

π

22 external drive

»



%

%

>

>

31

31

31

31

33

33

33

33

32

32

32

32

33

33

33

33

B α Cl.

A. Sx.

Pno.

(↓)

◊

↓ ◊↓

(rit.)

(rit.)

159 ˙

∑

159 œ œ∀ œ
3

œ œ∀ œ œ

Œ
−˙

‰ Ιœµ −˙

Œ
−−−−
˙̇̇
˙φφφφφφ%

ϖϖ

Lent q = 60

π

π

π

160

Lent q = 60160

Œ ‰ Ιœ ˙

Œ −˙∀

Œ ‰ Ι
œœœœφφφφφφ

˙̇̇
˙

œ œœ −−˙̇

π

π

Ιœ
−

‰
œ œ œ −œα Ιœ

∑

−−−−˙̇̇̇∀αφφφφ
‰ ιœœαα ˙̇

ε

ε

3

%

%

%
>

33

33

33

33

B α Cl.

A. Sx.

Pno.

↓ ↓
∋◊(

rit.

rit.

163
œ
œ œ œ−

œα= ˙
3

Ó Œ œ∀ =

163

−−−−˙̇̇̇ œ=
−−˙̇

Œ

ε

ε

˙ Τ̇

−œ Ιœ∀ Τ̇

˙
˙̇
˙αφφφφφφ

Τ

Œ ‰ ιœœ ˙̇
Τ

π

π

ο

Œ ˙µ œ∀

−˙∀ = œµ

Œ ‰ Ι
œœœ∀φφφφ

−−−œœœ Ι
œœœœφφφφφφ

‰ ιœœ −−˙̇Ó ‰ Ιœ œ

π

π

ο π

−˙
Τ Œ

−˙
Τ Œ

−−−−˙̇̇˙
Τ

Œ

−−˙̇
Τ Œ

−˙

n

n
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